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.Ic.?. LI H'I Aél 7'" OI E (Universal Gate)
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! ZHH Xl (commutative Law)

A-B=B-A
A+B=B+A

AB=BA

A+B = B+A

B+A

A+B

B-A

AB




FEH Xl (Associative Law)

7216
= B

A-(B-C) = (A-B)-C

(A+B)+C = A+(B+C)

A+(B+C
)
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= Hil % & (Distributive Law)

A.(B+C) =AB+AL
A+(BC)= (A+B) {A+C)

A B C A{B+C) (AB)+(AC)
0 0 0 0 0
0 0 1 0 0
0 1 0 0 0
0 1 1 0 0
1 0 0 0 0
1 0 1 1 -
1 1 0 1 -
1 1 1 1 -
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co=E7Zo] Mp|
B:IK"'E T —B=K+§B
A+B=A-B , Aﬂz
. X - 5 o
A+B=A-B

1

L\\\\\\\

20



(Maxterm)

1

e
o
o

x| A gk (Minterm)1} Z|CH

= A8

o FOf CH= At M1t Ofeh At




l

|.

A sk(Minterm)1} Z|CeH(Maxterm)

A EES AN
XV Z E 7] 7= F7] 7=
0O 0O O x'v'z' Mg X+ v+ z Mg
O 01 x'v'z 1y X+ v+ z N4
O 1 O xX'vz' ms X+ v+ z N
0O 1 1 X'vz T3 x+v'+ zZ \YE
1 O 0O Xy Z' Ma X'+ v+ z N4
1 O 1 XV'Z 115 X'+ v+ z M
1 1 O XVZ Mg X'+ vyv'+z Neg
1 1 1 XVZ 1117 X'+ v+ z N




= 2| e(SOoP)1t 2| &(POS) HE( 2
=24

o =9 e(sum of products) Y E}
o AND itz e 2 1d& &=0| OR gik(ghez HE
e Ex) F(A,B,C,D) = ABCD+A'B'CD+ABCD’

9| &(product of sums) HE|

OR GiAH(EHo 2 TAE TE0| AND GAHFZ)CE ¢l

o ExX) F(A,B,.C,D) = (A'+B+C+D)A+B'+C'+D)A+B'+C+D))




